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QUESTION 1

A developer has been asked to create a website which needs user authentication using AppID. Aside from federation,
what service resides in AppID to authenticate users?

A. IBM Security Key Lifecycle Manager
B. OIDC Repository

C. SAML

D. Cloud Directory

Correct Answer: C

QUESTION 2

Which two key-value stores are available as IBM Cloud Databases?
A. Elasticsearch

B. etcd

C. MongoDB

D. PostgreSQL

E. Redis

Correct Answer: CE

QUESTION 3

In the context of cloud-native, what is the principle of Immutability?

A. Images incorporate all settings required to pass resource requirements to the platform
B. After images are built, they do not change across different environments

C. The code base is managed using source code control as part of a robust lifecycle

D. Containers are ephemeral and can be replaced by new instances

Correct Answer: C

QUESTION 4

While building a chatbot with Watson Assistant, a developer wants to expand the dialog skill to avoid showing the
message ":I1 \\'m sorry, \\'m arraid | can\\'t do that." to the user. What solutions can the developer use?
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A. The developer should completely change the Intent to allow the Watson Dialog Skill to recognize a wider dialog flow

B. The developer can add a Watson Studio capability to analyze, cleanse and shape data and train machine learning
models to enhance the Dialog Skill

C. The developer can add a Search Skill to route complex customer inquiries to the IBM Watson Discovery service to
treat the user input as a search query

D. The developer should use the Watson OpenScale add-on to route inquiries to treat the user input as a search query

Correct Answer: D

QUESTION 5
Which statement describes the Watson loT Platform?
A. The Watson loT Platform is a containerized 10T platform designed to run on Red Hat OpenShift

B. The Watson loT Platform is a fully managed, cloud-hosted service that makes it simple to derive value from Internet
of Things (loT) devices

C. The Watson loT Platform is an IBM software solution designed to run on both on- premises environments and on IBM
Cloud

D. The Watson loT Platform is a cloud-hosted CORBA service that makes it simple to develop IoT applications using a
simple drag and drop interface

Correct Answer: B
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